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Entity Attach to Other Entity 
An entity that is attached to another entity can be show in a form represented by the 
diagram below.  Assume that Entity 1 is attached to Entity Two, and then Entity 1 and 
Entity 2 can be shown by this diagram.  The diagram above shows two entities that are 
attached by another entity, while the one below shows two attached entity.  In the 
diagram above, we know the attached entity, while we do not know it from the one 
below. 
 

 
 
Identify Multiple Entities as an Entity 
In term of entity, since an entity can be composed or included multiple entities, sometime 
it may be possible for us to show multiple entities as one entity.  In this case, we can 
follow the instruction below to show that.  Let’s assume that we identify two entities: 
Entity One and Entity Two.  In this case, it may be possible for us to show those two 
entities as one entity as shown below. 
 

 
 
The two entities above are the entities that we identify.  Assume that those two entities 
are part of another entity, in this case it is possible for us to show them as one entity as 
shown below. 
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The way to look at it, assume that we have a main entity that makes up Entity One and 
Entity Two, in this case we can show both entities as one entity.  That makes sense, since 
the main entity is also an entity, so do the parts of that entity.  We can draw an arrow 
from Entity One to Entity Two; since the main entity is also an entity, in this case we can 
show the main entity below without being shown Entity One and Entity Two.  While we 
call it main entity here, any other name can be used.  The way to look at it, we can use the 
entity element to show entities as one entity. 
 

 
 
 
Identify Part of an Entity 
Given that a part of an entity is also an entity; given that a section of an entity is also an 
entity, it is possible for us to use the entity element to show the identification of an entity 
that is a part of another entity.  Assume that from Entity One, we identify Entity Two and 
Entity Three, where those two entities are part of Entity One.  In this case, we can show 
or identify those entities in the form below.  In this case, Entity One is considered to be 
the main entity that we identify. 
 

 
 
Identify Relationship as an Entity 
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Since the relationship of an entity is also an entity, in this case it is possible for us to 
show or identify a given relationship as an entity.  To better understand that, let’s take a 
look of the diagram below.  Assume that we have a given relationship as presented 
below. 
 

 
 
Since the relationship between Entity One and Entity Two is also an entity, in this case we 
can show that entity in the form below as an entity. 
 

 
 
In this case, Entity Three is being identified as the whole relationship of Entity One and 
Entity Two.  To better understand that, we can represent it in the form below. 
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While we show it in the form above, since there is no limit in term of number in a 
relationship, there is no limit as well in term of number of relationship that can be 
identified as an entity.  Any relationship disregard any number can be identified as an 
entity. 
 
From the diagram above, the relationship entity inside the dashed area is being used for 
illustration only.  While the relationship of an entity is an entity, it is always good for us 
not to show a relationship inside an entity.  Since the relationship of an entity is also an 
entity, once we identify that entity, it is always better for us to show that entity as part of 
the main entity, rather than showing the relationship inside the main entity. 
 
The way to look at it, while we can identify a relationship inside an entity, but we cannot 
show a relationship inside an entity; since that relationship is being viewed as an entity, it 
is better for us to show it as an entity.  If we were going to show that entity as a 
relationship, inside another entity, that will further increase the complexity of our model 
and we will also loose our objective or focus.  Our objective is to reduce complexity to 
help us understand and solve problems not to increase complexity.  Keep in mind that 
does not exist on a piece of paper or a computer screen. 
 
The Location Entity 

                                              
 
Usage and Description 
The location entity can be used to identify a location or a site of operation.  Given that the 
functions that we execute do not take locations into consideration, while we can use the 
location entity to identify a location, nevertheless it is not necessary for us in the 
modeling of our application.  Since our application does not take location into 
consideration, it may not be necessary for us to use the location entity to model our 
application.   
 
While the modeling of our application does not take location into consideration and 
should not take location into consideration, nevertheless if there is a need to identify the 
location or the site that we operate within our application, the location entity can be used 
to identify that site or location.  For more information about using the location entity, 
refer to the example section. 
 
Available Option 
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Available options for the location entity include: 
• Location 
• Site  
• Location with index or number 
• Site with index or number 
• Location of operation 
• Site of operation  
• Etc. 

 
 
The Area Entity 
 

 
 

 
 
Usage and Description 
We can use the area entity to show our area of our operation.  Let’s assume that we 
operate in specific country or area, then we can use the area entity to identify that country 
as our area of operation.  The area entity can also be used with the site of operation entity 
to show both our site and our location of operation.  For more information about using 
the area entity and the site entity together with the location entity, refer to the example 
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section.  By understanding entity and parts of entity, the area entity can be viewed in the 
form below as a main entity.   
 
Each area or country in the main entity can be viewed as a part of that entity.  For 
instance, if we identify Country One, then Country One is viewed as a part of the main 
entity or simply as an entity within the main entity.  In this case, we can label them as 
parts of the main entity as shown below. 
 
To better understand the area entity, it is always good for us to view it as the main entity.  
In this case, we can view each area in the main entity as part of that entity.  For instance 
we can think the main entity in the form of the diagram below, where the main entity has 
parts.  In this case, if we identify Part One, Part Two, Part Three and so forth. those parts 
are considered as parts of the main entity, where each part represent an area of he main 
entity.  This is the same as saying the main area has Area One, Area Two, Area Three etc. 
 

 
 

 
 

 
 

 
 
As we said above, the main area includes areas, where those areas are considered to be 
areas of the main entity.  For instance if we identify Area One, Area Two, and Area 
Three, those areas are considered to be parts of the main entity.  In this case, we have 
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By understanding the explanation and the diagrams above, we can represent the main 
entity in the form where we can show the main entity and the parts of the entities that 
include inside that entity.  In this case, we have 
 

 
 
From the diagram above, each part of the main entity is considered to be an area, a 
country, a location etc.  The diagram below represents the main area and the areas that 
include inside the main area.  
 

 
 
From the diagram above, if we identify the name of an area or the name of a part of that 
entity, we can also show that in the main entity in the form below.  In this case, Name 1, 
Name 2, and Name 3 are viewed as the name of each part of entity that we identify in the 
main entity.   

 
 
Although that may not be important, but if we want to, it may be possible to show the 
names of countries or the image or sketch area represented by countries 
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The diagram below show the sketch of each area or country represented in the main area 
entity. 

 
 
In the diagram below, we represent the countries as Country 1, Country 2, and Country 3.  
We can also use the name of the countries to represent each area that makes up the main 
area entity. 

 
 
Below, we label them as Area 1, Area 2, and Area 3 

 
 
Since each area is considered to be a part of the main entity, in the diagram below we 
label them as Part 1, Part 2, and Part 3. 
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The main area can also be used with continuity in the form below.  In this case, we use 
the continuity to show more areas that are not visible in the diagram below. 
 

⋯
 

 
In term of entity and parts of entity, we can also show the main area entity in the form 
below, where we can use the has relationship label to show an area or a country that is a 
part of the main entity.  In this case we have 
 

 
 

 
 
Available Option 
Available options for the area entity include: 

• Area 
• Area of operation 
• Area with index or number 
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• Location 
• Location with index or number 
• Country 
• Country with index or number 
• Name with index 
• Country name 
• State 
• City 
• City with index or number  
• Place 
• Etc. 

 
Entity and Aspect of Entity Diagram 
Entity and aspect of entity diagram can be shown in the form below.  For instance, if we 
have an entity that has several aspects, then we can use the form below to show that if we 
want to.  Assume that entity 1 has several aspects.  In this case, entity 1 has aspect 1, 
aspect 2, aspect 3, etc. Then we can show that by using the diagrams below.  Since the 
aspect of an entity is also an entity, the diagram to the right shows that.  In this case, we 
use the diagrams below to show an entity that includes other entities. 
 

Entity 1

aspect 1

aspect 2

aspect 3

aspect 4

aspect 5

aspect 6

aspect etc.

Entity 1

entity 2

entity 3

entity 4

entity 5

entity 6

entity 7

entity etc.
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The two diagrams below are the same as the ones above 
 

 
 
The same diagram above can be shown in the form below.  Here we simply use another 
form to show it.  From the diagram below, we only show 4 aspects.  The other ones are 
not listed. 

h
a
s

 
 
 
Change of Communication Function from Communication 
Tabulated Form 
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Usage and Description 
Since our application is communication driven, it makes sense for us to show how any 
change in our communication affects the application.  Since our project is communication 
enabled, any change in our communication affects the project.  By using the table above, 
we can provide information about how our project change related to communication.   
 
Consider that the overall process as our application, we can also say that the change of 
our application related to communication.  We use the change of communication function 
from communication table to show how our application execution changes from 
communication.  While the table above shows the basic process, it is always good to 
expand it to show more information.  The following tables can be used to show more 
information about the change of our application from communication.  Keep in mind that, 
they are the same as the one above, but extend it by providing more information. 
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Available Option 
Available names for the change of communication function related to communication 
include 

• Change of application related to communication 
• Change of application from communication 
• Change or communication function related to communication 
• Change of communication result related to communication 
• Change of communication execution function related to communication 
• Change of application function related to communication 
• Change of application execution function related to communication 
• Change of application result related to communication 
• Etc. 
 

Change of Communication Function from Communication 
Graphical Form 
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co
m
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u
n
ic
a
ti
o
n
 f
u
n
ct
io
n

 
 
Usage and Description 
While we can use a table to show the change of application from communication, we also 
use the graph above to show or plot how our communication function changes related to 
our communication.  For instance, if we are working in a project and we consider that 
project as our application, since that project is a function of our communication, we can 
use the graph above to show how that project changes from our communication.  Since 
we consider that project as our application, we can use the graph above to show how that 
application changes from communication. 
 
While we can use multiple tables as shown above in the table version to provide more 
information about the changes, we can also use the graph to show the same information 
as well.  In this case, we can customize the graph axis and the labels to show the 
information.  We use the graph axis above to show or plot the change of the 
communication function related to communication. 
 
Available Option 
Available options name for the graph above include 

• Change of communication function 
• Change of application 
• Change of communication execution function 
• Change of application result 
• Change of the project 
• Etc. 

 
Graph Line and Graph Point 
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Description and Usage 
When using the graphical form to show the change of our application related to 
communication, we can use the graph line and point with the axis to show the changes.  
We can rotate the line to any location to reflect the changes.  We can also extend the line 
and add to it when constructing our graph. 
 
Graphical Axis Entity 

y-a
xis

 
 
Description and Usage 
Depend on the information we want to show, we can use the graphical axis entity above 
for that.  The graphical axis entity can be used together with graphical lines and points to 
represent information.  Since graphs are considered to be communication entity, then we 
can use the graphical axis with graphical lines and points as communication elements in 
term of communication to represent information. 
 
Available Option 
Available option for the graph axis entity includes any other name we want to give the 
axes. 
 
 
The Continuity Entity 

⋮
    
⋯

  

i
i

i       

i

i
i

   
⋯

           

⋮
                    

 
Description and Usage 
We can use the continuity entity to show the presence of continuity.  For instance if an 
entity is continue, we can use continuity to show that.  For instance in a group of 50 
people, we can show 3, and then use continuity at the end for the rest.  We can also use 
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continuity in the middle, and then show the last one at the end.  Continuity can be used 
wherever it is needed.  Continuity can be used with any entity, whenever it is needed.  
For instance we can use it for part of communication function, part of application and 
with all others whenever it is needed.  The arc type continuity can be used for the people 
work together diagram.  Refer to the example section for more information about using 
continuity. 
 
Group of People 
Within our project diagram, if space is an issue we can use the following diagrams to 
show selected group of people, see the example section for more information.  Group of 
people can be shown in the project by using both of the diagrams below.  We can use the 
first diagram to show selected group of people on a computer screen, while the second 
one is to be used on a piece of paper or a drawing board. 
 

 
 

 
 
When using the linear form of grouping as shown above, we can also use continuity to 
show a large group of people for instance.  The diagram below shows a group of 50 
people.  We use continuity to show that there are more people in the group than the ones 
that are visible to us as shown by the diagram below.  We can put the continuity after two 
or after three it does not matter.  The using of the continuity shows there are more people 
in the group. 
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⋯
 

 
By understanding the person entity, the principle entity, and the relationship between the 
person entity and the principle entity, a group of people can also be identified as shown 
by the diagram below. 
 

 
 
 
We can represent a group by using the abbreviation G .  For instance if we have a group 
of 3 people in our application, then we can denote the group as 1G  and represent it in the 

form of  
 

1 1 2 3G P P P= + +  

 
By using indexing and summation, for L group of people in our application, we can 
represent them in the form of 
 

1

L

l
l

G G
=

=∑  

 
This is simply a summation of groups in our application.  The number of people in group 
can be varied and each group can be represented with the people as we have shown 
earlier; refer to the example section for more information. 
 
 
Sub Application and Part of Application 
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If the application is segmented into several parts, some parts of the application can be 
grouped to give a single part as shown from the diagrams below.  The first diagram 
shows that the application is divided into part 1, part 2, and part 3.  In the second 
diagram, we simply use the empty container to group part 1 and part 2 of the application.  
To preserve space, we then use the compressed form of grouping to group part 1 and part 
2, which results to the third diagram.  

 

 
 

         

Group Part of

Application

 
 
If the project is divided into several sections, it maybe possible to have sub applications 
on that project; a sub application is considered to be a part of that application that 
includes other parts.  A sub application can also be connected to a sub function.  We can 
also say that the parts of a sub application can be linked to a sub function.  The symbol of 
a sub application is similar to the one of a sub function.  The diagram below shows the 
usage of sub application.  From the diagram, we can see that the application is made of 
two parts, but the first part is considered to be a sub application.  The diagram to the right 
shows the general form of a sub application. 
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If our application is divided into several parts, then we can represent the parts of our 
application in the form below.  Let’s assume that our application is made of 3 parts, in 
this case we can have 
 

1 2 3A A A A= + +  

 
By using summation and indexing assume that we have N part of application in our 
project, then we can have something like  
 

1 2 3

1

N

N

n
n

A A A A A

A A
=

= + + + +

=∑

⋯

 

 
 
 
Sub Application Result and Part of Application Result 
If the project is divided into several sections, it maybe possible for us to use sub 
application result as well; a sub application result is considered to be a part of the overall 
result.  Assume that our project is made of 5 sections, where each section is managed by 
a different person and different people work on each section.  In this case, the result of 
the project will be the combined result of the 5 sections.  To show that, we can us sub 
result or part of the result.  The first diagram below shows that the application result is 
made of two parts: part 1 and part 2.  The second diagram shows that part 1 of the 
application result includes other parts inside.  In this case, part 1 of the application result 
is considered to be a sub application result.  The identification of a sub application result 
is shown to the right of the third diagram and it is similar to a sub function.  Parts of the 
application result can also be grouped similarly to parts of function by using empty 
containers. 
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Grouping Part of Communication Function 
Since the overall project is driven by our communication, when managed by different 
people, if makes sense for the communication function to be divided into several 
sections.  We have already seen that from the usage of the empty container entity.  The 
diagram below shows that our communication function is made of three functions. 
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By using the empty container entity, we can group the first two functions of the 
communication function and leave the last one ungrouped as shown below. 
 

 
 
To reduce spacing, we then use the compressed form to group the two functions from the 
main communication function as shown here.  The diagram to the right represents the 
compressed form of grouping parts of function.  F12 is the combined grouping for 
function F1 and function F2. 
 

      
 
 
 
 
 
 
 
Review of Grouping 
In this section, let’s review what we have learned about sub function, sub application, sub 
result, part of function, part of application and part of result.  We use sub functions, sub 
applications, and sub results to link to other sections of our project.  That usually happens 
when our project is divided into several sections.  The diagram below shows the 
representation of sub function, sub application, and sub result. 
 

                            
 
Since our project is communication driven, it is important to assign individual function to 
employees or groups.  When that happens, each function is considered as a part of the 
main function.  We can group several parts of those functions into one function.  We can 
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also do the same process for application and application result.  Below shows the 
representation of grouping parts of the application, parts of communication function, and 
parts of communication result in compressed form. 
 

           
 
Grouping Communication Holder 
Communication holder and external communication holder can also be grouped in the 
following form.  Refer to the example section for more information.  The shadow form 
can be used on a computer if necessary. 
 

 
 

 
 
Grouping Entity and Communication Entity 
Entities and communication entities can also be grouped in the following form.  Refer to 
the example section for more information about grouping entity. 
 

 
 

 
 
Grouping Error and Compensator 
Similarly to grouping entity above, error and compensator can also be grouped in the 
following form 
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Grouping of Problem 
As an entity itself, many problems can also be grouped in the following form 
 

 
Grouping of Feedback 
If needed, feedback can be grouped as shown by the diagram below.  Assume that there is 
a need in a project to show all applicable feedbacks, and then the feedbacks received can 
be grouped on the form below.  Refer to the example section for more information. 
 

 
 
Grouping of Analysis 
If there is a need in the project to show the list of analysis, then the analyses can be 
grouped in the form as shown below, see the entity usage sedition for more info. 
 

 
 
Grouping of Question and Answer 
While it may not be necessary, however if there is a need to show a group of question and 
a group of answer, we can group questions and answers in the form below. 
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Some Entities Connection Examples 
 
This section provides some examples of the usage of the entities.  We can use this section 
to learn how to connect some of the entities in an actual project. 
 
Example Number 1 
Below we show the usage of the error correction function.  In this case, the person to the 
left can be considered as the children while the one in the right as the parent. 
 

ECF

Application
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Example Number 2 
Since the principle is considered to be the parent itself, then the principle can replace the 
parent on the diagram above.  The diagram below is the same as the one in the example 
above, except the parent is simply replaced by the principle. 
 

Principle

ECF

Application
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Example Number 3 
The diagram below shows the usage of the communication mixture entity.  As we know, 
the communication mixture can take several communications as input.  The output of the 
communication mixture then feeds the communication application mixture as shown to 
the right.  The way to look at it, communications from many people can be connected to 
the communication mixture entity.  In this case, the output of the communication mixture 
entity contains communications of those people.  On the diagram below, communication 
from four people are connected directly to the communication mixture entity. 

 

 
 
The diagram below is the same as the one above, except the X inside the circle is 
replaced by Mix.  Below we use the Mix to denote the mixture of the communication and 
the application.  It does not matter; we can simply use the whole word or the phrase. 
 

 
 
Here we use the short abbreviation to show the mixture of the communication and 
application.  Rather than using the long word, we can use the short abbreviation to show 
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the same thing.  The result is the communication function or the execution of the 
application or execution of the communication function.  The diagram is the same as the 
one above, except the communication is replacing by x and the application is replacing 
by A for simplicity 
 

 
 
 
Example Number 5 
We do have option to use the communication process entity or the communication 
mixture with the communication application mixture.  It does not matter which one we 
use, we can still use the communication mixture entity to group our communications.  
The communication mixture entity can also feed the communication process entity.  We 
can also connect people or communication directly to the communication process entity.  
The way to look at it, the communication process entity includes inputs for both 
communication and application.  It is always good to group all of our communications as 
a single entity to feed the communication process entity.  The diagram below shows the 
usage of the communication mixture as a single entity to feed the communication process 
entity.  The communication process entity is the same as Mix inside the circle or the X 
insider the circle.  The diagram assumes the separation of the application from 
communication.  It is also good to understand that other communication mixture can also 
feed the communication mixture entity. 
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Example Number 6 
If the application is divided into several sections, the application entity can be used to 
show that.  Below the application is made of 3 sections, we use parts of application to 
show that.  In this case, each section is considered to be a part of the application.  We can 
also use the grouping entity and the empty container to group part of the application. 
 

 
 
Instead of using the grouping entity as shown above to show the grouping of several parts 
of the application, the grouping of several parts of the application can also be presented in 
the following form as shown below.  This case depends on the type of paper or drawing 
board that is being used to model the application.  Assume that we are using a portrait 
size of paper, where we don’t have a lot of width to work with, then we case use the 
portrait form of the application to group the parts of our application.  If we want to, we 
can use arrow to show how the parts are connected together.  Below, the diagram to the 
left is the same as the one to the right, except in the one to the right, we use arrow to 
show the connection of the parts of the application. 
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Part 1

Part 2

Part 3

Application

Part 1

Part 2

Part 3

Application

 
 
Example Number 7 
Comparing to the grouping of the application shown above, for applications that are 
divided into several parts, those parts can be grouped as shown below.  We mean an 
application where the communication function is divided into several parts or sections.  
Both the first diagram and the second diagram can also be used to show the grouping of 
parts of the communication function.  The way to look at it, the bigger entity represents 
the overall communication function, while the small entities represent parts of the 
communication function.  We can also say that the bigger entity represents the overall 
parts of the communication function.  Below, the second diagram is the same as the first 
one, except in the second diagram, we use arrow to show how those functions connect 
together. 
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Example Number 8 
If the communication function is made of several sections, sub functions can be used to 
show part of function of the communication as well.  Here is an example; in this case F1 
is a sub function.  This example is similar to the one above, except one of the functions is 
considered to be a sub function.  A sub function is a function that contains other functions 
inside.  If the communication function is divided into several parts, some parts of the 
communication function can also be considered as sub functions. 
 

 
 
The diagram below shows the expansion of the sub function F1.  As we have said it, a 
sub function is a function that contains other functions inside.  As shown by the diagram 
below, we can see that the sub function F1 above expanded to functions F11, F12, and 
F13.  All those functions are considered to be parts of the main communication function. 
 

 
 
Example Number 9 
Time line can be used in the following form to show function execution related to time or 
to show specific process related to time.  For instance, we can use time line to show the 
execution of our communication function or the time of a communication.  The first 
diagram below shows the first time line while the second one to the right shows the 
successive time line. 
 

Time 1

Date 1 Date 2                             Date 3

Time 2
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The diagram below is the same as the one above, except that we connect both time lines 
together to show an overall single time line.  All that we do connect the first time line 
with the successive time line. 
  

 
 
We can also use progress bar with time line to show the progress of our application.  In 
this case, we can use the progress bar with specific time line to show the progress of the 
application at a particular time.  The diagram below uses both progress bar and time line 
to show the application progress at a given time.  In this case we can see at time 2 we are 
15% completed.  The diagram to the left is the same as the one to the right, except in the 
one to the right, the progress of the application is shown at the bottom. 
 

      
 
 
Example Number 10 
We know that the communication mixture entity takes communication as input.  In this 
case, we can connect people directly to the communication mixture entity to show how 
their communications feed that entity.  In the diagram below, we connect three people 
directly to the communication mixture entity.  The output of that entity is the total 
communications of those people. 
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Communication

Mixture

Communication

 
 
The diagram above can also be represented in the form below 
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x

x

x

x

 
 
The diagram below is similar to the one above, except the grouping entity is used to show 
a group of two people.  We know that we can use the grouping entity to group people; we 
can also use it to group communication mixture if we want to, although not necessary.  
The way to look at it, while the grouping entity is used to show a group of two people; 
however the communications of those people feed the communication mixture entity.  
Again, the output of the communication mixture entity includes the total communications 
of those three people.  The second diagram below is the same as the first one, except 
group is being replaced by the plus sign instead.  It does not matter; we can always 
change the text in an entity. 
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Example Number 11 
We can use timeline in conjunction with dateline to show specific statement or question 
at a given date or time.  Below is an example of using the time chart with the dateline to 
record statements and questions.  From the diagram below, Date 1 is the recorded date for 
statement 1 and 2, while Date 2 is the recorded date for question 1 and 2. 
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Example Number 12 
The diagram below shows the starting communication of two people that extends to four 
people.  As usual, the output of the communication mixture entity includes the total 
communications of the people that feed that communication mixture.  The last output of 
the communication mixture entity includes the communications of all people in the 
project or that communication.  The diagram below shows a total communication of four 
people.  To reduce space, we can group some of those people together.  The second 
diagram below simply shows the grouping of three of those people.  Keep in mind that 
the second diagram is the same as the first one, except in the second diagram we group 
some of those people together.  The output of the communication mixture is still the 
same.  The third diagram below is the same, except we use the linear form of grouping. 
 

Comm

Mix

Comm

Mix

Comm

Mix

Communication
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www.speaklogic.org                                                     Copyright © 2011 The Speak Logic 
Project 

103 

Example Number 13 
Assume that our application is divided into two parts, we can use part of the application 
entity to show that.  The diagram below shows that our project is made up three 
employees, where the application is separated into two parts. 
 

Comm

Mix

Comm

Mix

Employee 1

Employee 2

Employee 3

X

Part 1 Part 2

Application

 
 
The diagram above can also be represented in this form 
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Comm

Mix X

A

A
1A

3P

2A

x

x

x

x

x

1P

2P

 
 
 
 
 
 
 
 
 
Example Number 14 
This example is similar to the one above; except that employee number 3 is being 
replaced by a communication holder and part 1 of the application also include other parts.  
In this case, it looks like part 1 of the application is viewed as a sub application.  The way 
to look at it, while employee three is being worked in a project that has different parts; 
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but employee three can also be worked in another part of the project.  Since employee 
three cannot be duplicated physically, in this case when the whole project is being viewed 
in the same sheet or on the same screen, it makes sense for employee three to be replaced 
by his/her respective communication holder.  For instance if we model our project on a 
piece of paper, where employee three has two functions in different section of the project, 
when both sections are being viewed in a single sheet or on the same screen, in one 
section employee three is replaced by his/her respective communication holder as shown 
below. 
 

Communication

Holder

Comm

Mix

Comm

Mix

Employee 4

Employee 5

Employee 3

X

Part 12

Application Part 1

 
 
 
Example Number 15 
This example is similar to the one above.  In this example, the communication function 
includes a sub function, where the sub function can be viewed as function 2.  We can use 
sub function to group part of the communication function that can be outside of the main 
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function.  We can also use them to show functions that are also parts of the main 
function. 
 

Comm

Mix

Employee 1

Employee 2

X

Part 2

Application

Communication Function

Sub Function

The subfunction can be viewed 

as Function 2

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
From the diagram above, the sub function is considered to be function 2.  Now, we can 
expand the sub function to show more information about this section of the project.  By 
doing so, we can also see the part of the application is also expanded with the sub 
function.  In this example, part 2 of the application is also linked to function 2, where 
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function 2 is considered the main communication function for that part of application.  
Our diagram below assumes that our project is made of several sections.  In this case, 
each section can lead or managed by different people.  For this reason, it makes sense to 
have sub functions, part of functions, sub results, parts of result, sub applications, and 
parts of application. 
 

Comm

Mix

Employee 1

Employee 3

X

Part 2

Function 2

 
 
The diagram below is also another way of looking at the diagram above.  If we assume 
that employee 1 can be working on a different part of the project, but managed by another 
person.  In this case, when viewing both diagrams together, it makes sense for employee 
1 to be replaced by his/her respective communication holder.  Assume that employee one 
is working and managed by one person, but helping out another project that is managed 
by another person.  In this case, when both projects are linked together and being viewed 
in the same screen or paper, in one of them, mostly the second one, employee 1 will 
definitely be replaced by his/her communication holder.  The diagram below simply 
shows that.  While we say help out in another project, we mean help out in another part of 
the project.  It is always good to view the overall project as a single project that has 
different parts, but managed by different people. 
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Example Number 16 
In a project, it may be possible for us to use communication of people that are not 
physically in the project.  The external communication holder enables us to do so.  It is 
very important for us to take communication into consideration in our project.  The 
external communication holder can hold communications from external sources.  For 
instance people, books, magazine articles, newsletters, interviews etc.  The diagram 
below shows the usage of the external communication holder.  In this case, it shows the 
communication of a person that is not physically in the project.  While that person is not 
in the project, however its communication contributes to the project. 
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Comm

Mix

Comm

Mix

Employee 1

Employee 2

X

Application

Person Name

External Com. Holder

 
 
The diagram below is similar to the one above, except the external communication holder 
holds communication from a magazine article.  Since our project can contain 
communication from different sources, in this case we use that magazine article in our 
project.  That magazine article can contain information that enables us to execute the 
overall function of the project, which is the communication function.  That magazine 
article can also affect the result of the project.  It is very important to take external 
communications into consideration in term of analysis. 
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Mix

Employee 1

Employee 2

X

Application

Magazine Article

External Com. Holder

 
 
Since external communication holders are considered to be entities, they can also be 
grouped by using the grouping entity.  From the diagram below, we use the grouping 
entity to group two external communication holders.  Since the project we are working on 
depends on what we need to do, there is not limit on how many external communication 
holders that can be used.  Assume that we are working in a project where information 
from a book and one from a magazine article, we can group both of them to show that.  
We can also group them together as long as they can be combined to enable us to do what 
we do.  From the diagram below, we group two external communication holders.  In this 
case, we assume that both of them are related to enable us to do what we do.  The second 
diagram below is the same as the first one, except we use the communication mixture for 
the two external communication holders rather than using the grouping entity.  Since 
external communication holders are considered to be communication themselves, they 
can be mixed together using the communication mixture entity. 
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Since communication holders are considered to be entities themselves, they can be 
grouped in the same form as we group entities.  The diagrams below show another way 
of grouping external communication holders and communication holders.  We can use 
this form of grouping in order to preserve space.  
 

 
 

Comm

Mix

Employee 1
communication

Communication

Holder
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Example Number 17 
Within a conversation or a communication, we can recall an important part of that 
communication.  Within a communication or a conversation, we can recall and important 
point of that communication.  We use the callout to show an important point of a 
communication or a conversation.  Assume that two employees are communicating 
together about a project, if one of the employees record an important point of that 
conversation, then a callout can be used to show that.  Whenever we use the term 
important point, we use a part of the communication that is important to the project or the 
employees for instance.  In the diagram below, we use callouts to record important parts 
of the communication by the employees. 
 

Comm

Mix

Comm

Mix

Comm

Mix Communication

Employee 1

Employee 2

Employee 3

Employee 4

Employee 1 communicates 

with employee 2 about some 

issues

That same 

communication 

continues to 
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The communication of 

employee 1 and employee 2 

carryovers to employee three 
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If we don’t want to use callouts to show important points of a conversation or 
communication, we can also use node with numbers to show that.  The diagram below is 
the same as the one above, except nodes with numbers are being used instead of callouts.  
When we use nodes with numbers, we can also use a table to provide more information 
about those nodes.  The table below the diagram provides information about the nodes.   
 

Comm

Mix

Comm

Mix

Comm

Mix Communication

Employee 1

Employee 2

Employee 3

Employee 4

1

2

3
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Example Number 18 
While we use words for oral and written communications, however we don’t think about 
them directly.  We think about actual entities they represent.  For instance, if we use the 
word table we think about an actual table, which is a physical table.  If we use the word 
tree, we think about a tree which is a physical entity.  The point to label or the point to 
arrow label enables us to map a word with the actual entity it represents.  From the 
diagrams below, we show the usage of the point to label, where we show each actual 
entity each word represents. 
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Example Number 19 
Within a project, it may be important for us to show actual entities that we use for the 
project.  Assume that in our project it is required for us to use physical entities, it may be 
possible for us to show the usage of those entities related to the project.  In this case, we 
can group those entities to show their quantities.  The diagram below shows the usage of 
entities in our project.  We can only do that if it is desired.  In the diagram below, we use 
the grouping entity to group the entities. 
 

+

Entity 1

Entity 2

Entity 3

Entity 4

Entities
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To preserve space, we can also use the grouping entities in the form of one on top each 
other to show the grouping of the entities.  The diagram below shows a different way of 
grouping the entities to the left.  This diagram is the same as the one above, except we 
group the last three entities in the left in order to reduce space. 
 

+ Entities

Entity 1

Entity

 
 
Example Number 20 
Since problems are considered to be entities themselves, they can also be grouped.  
Within our project, it maybe possible and require for us to show all the problems we have 
in the project.  By grouping all the problems we have together, we show the total 
problems we have in the project.  The diagram below shows the grouping of the problem 
we have in the project.  We use the grouping entity to group the problems. 
 

+

Problem 1

Problem 2

Problem 3

Problem 4

Problems
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As we did for the entity grouping diagram, we can also do the same for problems.  To 
preserve space, we have grouped the last four problems in the left above in a form of one 
on each other.  The result gives us the diagram below.  Disregard the way we group them, 
the output is always the total problem for the project. 
 

+ Problems

Problem 1

Problem

 
 
Example Number 21 
Since error in communication gives rise to problem, an error that occurs in a project can 
develop problems, it may be important for us to accumulate all errors in our project so we 
can keep track of them.  The diagram below shows a way for us to group our errors in our 
project.  We use the grouping entity to group the errors. 
 

+

Error 1

Error 2

Error 3

Error 4

Errors
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To reduce space, we can also group errors in a form where we can show one on top of 
each other.  The diagram below shows that form of grouping error.  This diagram is 
simply the same as the one above, except the last three errors in the bottom are being 
grouped to form a single one.  The result is still the total error for the project. 
 

+ Errors

Error 1

Error

 
 
Example Number 22 
It may be important for us in a project to track all the feedbacks that we receive for the 
project.  In this case, we can group all the feedbacks so we can keep track of them.  By 
using the grouping entity in the form showing above, we can group all the feedbacks we 
receive in our project.  The diagram below shows the total feedback of the project. 
 

+

Feedback 1

Feedback 2

Feedback 3

Feedback 4

Feedbacks
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While we use the diagram below to sum all the feedbacks we have received in the 
project, to reduce space, we can also group them in a form of one over each other.  The 
diagram below is the same as the one above, except we group the last three feedback one 
on top of each other.  The output still provides the total feedback. 
 

+ Feedbacks

Feedback 1

Feedback

 
 
Example Number 23 
We can use timeline and dateline to show our project timeline and our project schedule.  
The diagram below shows the usage of timeline and dateline to show a project schedule.  
While we use number with the date to show specific date, it does not matter.  The date 
can be any date that is related to the project. 
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Example Number 24 
Assume that we are working in a project, where we have 50 people in our project.  Now 
while modeling our project, it may not be possible for us to show all of them.  For 
instance, assume that we are modeling our project in a piece of paper or a drawing board, 
for illustration purpose, we may not want to show all of them.  In this case, we can use 
continuity in this form to show the people in our project.  For the first diagram, the 
continuity means there are some other people after Person 3, while in the second 
diagram, the continuity means there are some other people between Person 2 and Person 
50. 
 

⋯ ⋯
 

 
We can also use continuity to show the continuity of parts of our communication function 
and also the continuity of part of our application.  The diagram below shows what we are 
talking about.  Assume that we are working in a project, where our communication 
function is made of 10 different functions.  In this case, we can show them in the 
following form.  Assume that we have limited space to show all the functions, here we 
use continuity to show there are some functions between the last one that are not listed. 
 

⋯
 

 
As we did for the communication function above, we can also do similarly for the parts 
of application and any other entity that can be used with continuity.  Assume that we are 
working in a project, where our application is made of 10 parts; in this case we can use 
continuity if we don’t want to show all of them as shown by the diagram below.   
 

⋯
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Example Number 25 
Since references contain information, it maybe possible for references to be given to us at 
a time we can use it and when it is necessary.  The reference entity can be used in the 
form below to show a reference given from one person to another person. 
 

 
Since not all entities are considered to be references and the principles attached to a 
reference must be understood in order for a given entity to be considered to be a 
reference, it may be possible for one to present an entity to others that is not a reference.  
For that reason, feedback can be used as shown below with the reference entity to 
determine if that entity is an actual reference. 
 

 
Since a reference is given in the form of communication, during our communication it is 
possible for a reference to be given and it is also possible for a reference to be captured.  
The diagram below shows that a reference is given during a communication. 
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Since a reference contains principles, the origin of a reference is not important to us, but 
the reference itself is what is important to us.  For this reason, the one who provides a 
reference to us is not important to know, but the reference itself is what is important for 
us to know.  In this case, it is good to show that a reference is given without showing the 
one who provides that reference. 
 

 
 
Since a reference is given in the form of communication and the one who provides the 
reference is not important to know, but the reference itself.  In this case, it is possible for 
us to show that the reference is given in a communication without showing the one who 
provides that reference as shown by the diagram below. 
 

 
 
Example Number 26 
We use the continuity entity to show more entities that are not visible in the diagram.  For 
instance, if our communication function includes many functions, it is possible for us to 
use the continuity entity to show more functions that are not listed in the diagram.  Let’s 
assume that our communication function is made of 6 functions as shown by the diagram 
below. 
 

 
 
Since our communication function is made of several functions, while modeling our 
application, it may be possible for us not to show all the functions that include in our 
communication function.  While the diagram above shows 6 functions, it is possible for 
us to use continuity to show some of those functions that are not in the diagram as shown 
below. 

⋯
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Example Number 27 
The continuity entity can also be used to show list of entities in our application.  For 
instance assume that we want to show at list of entities and some of those entities are not 
visible in the diagram, we can use the continuity entity to show that.  Let’s assume that 
within our application, we have a list of entities that is made of 6 entities as shown by this 
diagram. 
 

+

Entity 1

Entity 2

Entity 3

Entity 4

Entity 5

Entity 6

Entities

 
 
Let’s assume that within our diagram it is not possible for us to show all the entities, and 
then we can use the continuity entity to show entities that are not visible as shown by this 
diagram.  The usage of the continuity entity from the diagram above simply shows a list 
of entities that is not visible in the diagram.  While we use the continuity entity before the 
last entity, we can also put the continuity at the end.  Putting the continuity at the end 
shows that we don’t know the end of the list. 
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⋯

 
 
Example Number 27 
In a project it is possible to have groups of people that have specific functions.  We can 
use the group of people entity to show groups of people that make up our project.  For 
instance assume that in a project, we have four groups of people.  In this case, we can 
represent those groups of people by the diagram below.  As shown by the diagram below, 
our project is made of 4 groups of people.  The group to the right shows the total number 
of people in the project. 
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Example Number 28 
Let’s assume that we have a relationship diagram that shows the relationship between 
entity 1, entity 2, entity 3, and entity 4 as shown by the diagram below. 

Related

Entity 1

Entity 2

Related

Entity 3

Entity 4

Related

 
 
While we draw the relationship above to show multiple relationships or a relationship 
entity for 4 related entities; when having multiple entities in multiple relationships or 
multiple entities in a relationship, it is possible for us to define an entity at specific node.  
Since two entities are related by an entity, and that entity is considered to be the result of 
that relationship, it is possible for us to identify an entity at a node or identify it by a node 
as shown by the diagram below. 
 
Let’s assume that entity 1 is related to entity 2, where that relationship is related to the 
relationship of entity 3 related to entity 4 as shown by the diagram above.  To better 
understand the explanation, let’s show that diagram above again with node number. 
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Related

Entity 1
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Related

Entity 3

Entity 4

Related

1

2

3

 
 
From the diagram above, we redraw the relationship again to show node number.  In this 
case, we have node 1 that shows the relationship between entity 1 and entity 2, node 
number 2 that shows the relationship of entity 3 and entity 4 and node 3 that shows the 
result of the relationship from node 1 and node 2.  In this case, node 3 shows the 
relationship of the 2 relationships. 
 
Now what we can do, we can identify entities for node 1, node 2, and node 3.  Assume 
that we can identify the entity, entity 1 and entity 2 are related by, and then we can define 
that entity.  Here, let’s define or identify that entity as entity 5.  Then we can identify the 
entity, entity 3 and entity 4 are related by entity 6, then we can identify the entity those 
two relationships are related as entity 7.  What we have done here, we simply identify 
node 1 as entity 5, node 2 as entity 6, and node 3 as entity 7.  In this case, we can redraw 
the relationship diagram in the form below with those entities. 
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As we can see, if we can identify specific entity at specific node in a relationship, then we 
can reduce the number of entity in that relationship.  Since there is no limit in a 
relationship in term of number, this process has no limit. 
 
Example Number 29 
Since it is more understandable for us to approach relationships one at a time, the 
separation line and the time line can be used together in a relationship diagram to show 
the way we approach or identify a relationship at a specific time.  In other words, since it 
is better for us to identify the relationship of two entities at a time, rather than several 
entities at a given time.  In this case, we can use the separation line with time line to show 
how we approach or identify a relationship at a given time.  For instance related to the 
diagram below, we identify relationship one which is the relationship of entity 1 and 
entity 2 and then later at time 2, we identity the result of that relationship in relationship 
with entity number 3 and so forth. 
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Example Number 30 
Since our application depends on our understanding of the principle entity.  By having an 
operating principle, it is possible for us to follow that principle in order for us to execute 
our project.  Given that the application itself depends on everybody in the project, it 
makes sense for those people to follow the operating principle to enable the execution of 
the application.  Within the application itself, it makes sense for us to show everybody in 
the application related to the principle of operation as shown by the diagram below.  The 
diagram below shows that we have six people in our project.  It does not matter in term of 
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number of people we have, we can still show them with the same operating principle.  
We can also use continuity and group if space is an issue. 
 

 
 
 
Example Number 31 
Given that within the project itself, the status of a function is considered to be an entity; 
similarity to the list of entity diagram, if necessary it may be possible for us to show the 
status of each function that makes of our application or the overall function as shown by 
the diagram below.  In this case, we can use the function name or the actual function and 
the completion status of the function; for instance if our application or the overall 
function of our application is made of 4 functions; then it is possible for us to show the 
status diagram in the form below.  The diagram below shows the % completion of each 
function and the overall % completion of the overall application. 
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Example Number 32 
The overall process of modeling enables us to model our application, disregard the type 
of that application.  For instance, if our application is being viewed as a service that we 
provide, it is possible for us to model it.  As well as, if our application is being viewed as 
a product that we develop, it is possible as well for us to model it in the same manner.  In 
term of modeling our application, if the result of our application is being viewed as a 
service, that service is being viewed as an entity.  As well as, if the result of our 
application is being viewed as a product that we make, that product is being viewed as an 
entity.  By understanding that, if term of entity, it is possible for us to show or identify 
that entity within the model of our application.  For instance, if our application is to 
produce a physical entity, then we can show that entity produced by our project or our 
application in the form below.  We can call it any name or its actual name, here we 
simply call it Entity One. 
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From the diagram above, Entity One is being viewed as the entity produced by our 
application or our project.  If the purpose of our project is to provide a service or service 
an entity, then Entity One is being viewed as well as the service we provide.  Since an 
entity must have a function and the function of an entity is also an entity, then it is 
possible for us to show Entity One and its function in the form below.  Here we use the 
name Function 1 as the name of the function of the entity; we can use any name we want 
or the actual name of that function.  
 

 
 
The diagrams above show the entity produced by our application and the function of that 
entity.  Given that an entity can have several parts and each part of an entity can be a 
function, within our application, it may be possible as well to extend the diagrams above 
to the form below.  From the diagrams below, the first one to the left shows a list of 
entity or list of part of entity produced by our application, while the one to the right 
shows the function of each entity or each part of the entity. 
 

 
 
From the diagrams above, the main entity is being viewed as the entity produced by our 
application.  While in the second diagram, the main function is being viewed as the 
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function of the main entity.  Sine the main entity is made of several parts, if we wan to, 
we can show it as a group of entity or a group of parts of entity, and so does the main 
function.  While we show both diagrams in the form above, we can also show them in the 
other form below. 
 

 
 

 
 
Related to the diagram above, since entities that we use in our application must have 
functions, in this case we can use several entities in our application to execute a function.  
The way to look at it, several entities in our application can have one or more function.  
Assume that Entity 1, Entity 2, and Entity 3 in our application have Function 2.  In this 
case, we can show that by the diagram below. 
 

 
 
Example Number 33 
In an application or project, it may be required for us to use many entities in order or us 
to execute the function of that application.  Within the project itself, if we use entities or 
external entities to help us execute our function, it makes sense for us to show the list of 
entities that we use in the project.  The diagram below shows a list of entities that we use 
to help us execute the function of our application. 
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While we use the diagram above to show the list of entities we use in our project, we 
don’t have to show it in that form.  We can also show in any other form. 
 
 
Example Number 34 
From the above example, we have shown the list of entities that are used in our 
application.  In this case, we show the list of entities that we use to enable us to execute 
the function of our application.  Since we use those entities to help us execute our project, 
it makes sense for us to show that in a diagram, where we can show that the people in the 
application actually use those entities to execute the application.  By doing so, we can 
show that in the form presented below.  In the first diagram, we show that Person 1 in the 
application uses Entity 1 to execute Function 1.  In this case, Function 1 is considered to 
be the function of Person 1 in the application. 
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If our application has more than one person, in this case our application has many people.  
It makes sense to show the entities they use to execute the application.  By doing so, we 
can say that a group of people use a group of entities to execute the application or the 
function of the application.  In this case, we have the diagram below.  The function to the 
right is considered to be the function of our application. 
 

⋯

 
 
 
Example Number 35 
By understanding the example above, we can see that the principle entity or the analysis 
entity can be used to show the analysis of an entity that we use to execute a function.  
Assume that we are working in a project where we use an entity to execute a function, in 
this case we can use the analysis entity in conjunction with that entity to show that 
analysis of that entity as shown by the diagram below. 
 

 
 
From the diagram above, we can see that Entity 1 which is used by Person 1 to execute 
Function 1 is under analysis.  From the same diagram, Function 1 may well be the 
function of Entity 1, so it makes sense to analyze Entity 1 related to Function 1 in that 
application. 
 
Example Number 36 
To better understand the usage of the location entity, let’s assume that our application 
includes many people, where those people operate at separate locations while working 
together to execute the functions of our application.  In this case, in each location, people 
who work in that application have their own functions in terms of groups.  To better 
understand that, let’s assume we have 4 groups of people where they work at separate 
locations.  Below the main function of the application is related to the functions of the 
groups in the form of 
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From the diagram above, the main function is considered the overall function of our 
application, where Function 1 is considered the function of Group 1; Function 2 is 
considered the function of Group 2 etc.  Here the overall function of the main application 
is made of 5 functions, where each function is considered to be part of the application 
function.  In this case if we want to, it is possible for us to show the locations or the sites 
of operation of those groups of people in the form below. 

Site 1 Site 2

Site 3 Site 4  
Since the people in the sites or at the locations communicate together to execute the 
function of the application, if we want to we can show the connection of the sites in the 
form shown below. 
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Site 1 Site 2

Site 3 Site 4  
 
Example Number 37 
By understanding our parent principle, it is possible for us to operate at multiple 
locations.  Since our application should not take location into consideration, our 
understanding of the principle enables us to operate at multiple places, where we do not 
take specific place into consideration.  Let’s assume that we operate in 4 areas, then we 
can use the area entity to show the places that we operate as shown by the diagram below. 
 

 
 
The areas that we operate can be viewed as entities; they can also be viewed as countries 
as well.  We can use the area entity to show that we operate in multiple countries or 
cities.  If we want to, we can use the main area entity to show the cities or the countries 
that we operate in the form below.  The usage of the form below assumes that we 
understand our parent principles and that makes is possible for us to operate in multiple 
countries.  In this case we can show those countries in this form 
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Since our understanding of our parent principles does not limit our mobility, with that 
understanding, it is possible for us to extend our services to other locations where 
problems are identified and need to be solved by our services.  In this case, related to the 
diagram above, we can show the sketches of the actual countries we are operating in the 
form below. 
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Error Identification and Correction Charts 
 
In order for the error to be corrected, it must be identified; in order for the error to be 
identified, the communication or the process must be analyzed.  We can use the error 
identification and correction charts listed below to identify errors in our communications. 
 

Use Inappropriate Instructions

Perform Inappropriate Actions

Misuse of Instructions

Disregard Instructions

Misuse of Objects

Use Inappropriate Objects

Misinformation

Misinterpretation

Follow Others

Miscommunication

Exercise of Force

Error Identification
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Good Usage of Instructions

Use Appropriate Instructions

Regard Instructions

Good Usage of Objects

Use Appropriate Objects

Perform Appropriate Actions

Proper Information

Good Interpretation

Follow Principles

Proper Communication

Exercise of Kindness

Error Correction
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Correction Consideration

Use of Good Words

Use of Good Expressions

Use of Portable Words

Use of Portable Expressions

Use of Words with Single Meaning
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Conclusion 
 
It is very important for us to model our application and understand the process of 
modeling our project in the communication domain.  Since communication enables us to 
do what we do, and we depend on communication to do our work, it is very important to 
use communication to model what we do.  It is also important not to take communication 
for granted within what we do. 
 
When we model our project in the communication domain, we look at what we do from 
the flow of our communication.  In this case, we can detect and correct errors in a 
costless manner before they happen.  Now that we finish our project and verify that 
everything is working accordingly, we can then present it or deliver it to our customers.  
Since communication is not limited by us, since we are not limited by our 
communication, after delivering or presenting the project to our customers, they may still 
have questions for us that we need to answer.  Now that we understand the process of 
modeling our project in the communication domain, we should not limit ourselves from 
communication. 
 
From the paragraph above, we have learned that we are not limited to communication and 
our customer can question us about the project after being delivered or presented.  Now 
assume that our customers have provided us with two hundred hours to complete the 
project.  We use the time to complete the project and we deliver it to the customers.  
Upon delivering the project to the customers, they are very happy with what we have 
done.  In addition to that, they told us they will provide us with additional time, so we can 
tell them how we have completed the project.  The question here is how we did what we 
have done.  From what we have said, it is certain that we still have questions to answer to 
our customers.  
 
 
 
.
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Exercises 
 
For some of us who may have questions about the warning messages, the following exercise can 
be used as a verification of our understanding of the principle.  By having a good understanding 
of the principle, there should be no problem or ambiguity to verify the warning messages.  Also, 
people who have a good understanding of the principle and who have worked out various 
exercise from the beginning to the end of the book, should have no problem with the error 
messages.  The understanding of those error messages can be used as a verification to determine 
whether or not the principle of communication is understood.  For some of us who have some 
difficulty to understand those error messages, turn them off and start working some exercises 
from the beginning to the end of the principle of communication book. 
 
Since any entity can be used according to us and what we are doing, the exercises are not in 
order in terms of weights.  We can do whatever we think we understand and leave the rest for 
later.  As we make progress learning and understanding the principle, then we can move to do 
the ones we have left out.  While the exercises are given here, they should not be the starting 
point of learning the principle.  To understand the warning messages, it is better to start learning 
the principle from the understanding the principle of communication book or with the help of an 
instructor. 
 

1. Show that a person cannot be deleted or erased 
 

2. Verify that a person cannot be copied 
 

3. Show that a person cannot be composed 
 

4. Show that a person cannot be decomposed 
 

5. Verify that a person cannot be grouped with other entity 
 

6. Verify that a person cannot be rotated or flipped 
 

7. Determine that it is not possible to compose a group of people 
 

8. Show that a word cannot be deleted 
 

9. Show that a word cannot be copied 
 

10. Determine that a word cannot be composed and decomposed 
 

11. Verify that an entity cannot be rotated or flipped.  You may need to look at the aspect of 
the entity itself related to rotation.  You may also need to look the function of the entity 
related to rotation as well. 
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12. Determine that an entity cannot be composed or decompose 

 
13. Show that the function of our communication cannot be deleted 

 
14. Show that the function of our communication cannot be copied 

 
15. Verify that the function of our communication cannot be composed 

 
16. Verify that an application cannot be deleted 

 
17. Show that an application cannot be copied 

 
18. Determine that the result of an application cannot be deleted 

 
19. Show that the result of an application cannot be copied 

 
20. Show that our communication cannot be composed 

 
21. Verify that the communication function cannot be composed 

 
22. Show that the result of our communication can not be composed and decomposed 

 
23. Verify that it is not possible to copy and delete a timeline 

 
24. Show that it is not possible to compose and decompose a timeline 

 
25. Show that the progress of our application cannot be deleted or copied 

 
26. Verify that the progress of our application cannot be composed and decomposed 

 
27. Show that a node or a callout cannot be deleted or copied 

 
28. Verify that a node and a callout cannot be composed and decomposed 

 
29. Verify that an error cannot be deleted 

 
30. Determine whether or not a problem can be deleted 

 
31. Show that principles cannot be deleted 
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32. Verify that a compensator cannot be deleted or erased 

 
33. Show that a compensator cannot be copied 

 
34. Show that principles cannot be copied 

 
35. Show that principles cannot be composed and decomposed 

 
36. Determine that the Error Correction Function cannot be deleted or erased 

 
37. Show that the Error Correction Function cannot be copied 

 
38. Verify that the Error Correction Function cannot be composed and decomposed 

 
39. Verify that an action cannot be deleted 

 
40. Determine that an action cannot be copied 

 
41. Verify that a reason cannot be deleted 

 
42. Show that a reason cannot be copied 

 
43. Show that a reason cannot be composed and decomposed 

 
44. Verify with a practical example that a communication holder cannot be deleted and 

copied 
 

45. Show that a sentence cannot be deleted and copied 
 

46. Show that communication cannot be deleted and copied 
 

47. Verify that information cannot be deleted 
 

48. Show that it is not possible to copy information 
 

49. Show that it is not possible to compose information 
 

50. Determine that information cannot be decomposed 
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51. Determine the relationship between the word entity, the sentence entity, and the 
paragraph entity 
 

52. Verify that a word and a sentence cannot be rotated 
 

53. Determine that a reference cannot be deleted. 
 

54. Show that a reference cannot be compose 
 

55. Verify that a reference cannot be decompose 
 

56. What is the difference between a written word and the word itself?  Written word means 
a word on paper, board, postcard, etc. 

 
57. Verify that information cannot be edited.  If you want to, you may provide a practical 

example. 
 

58. Determine the difference between a single entity and a group of entity 
 

59. Show that a reference cannot be edited 
 

60. Show that a reference cannot be copied 
 

61. Verify that the relationship entity cannot be deleted 
 

62. Sow that the relationship entity cannot be rotated 
 

63. Determine that the relationship entity cannot be copied 
 

64. Verify whether or not it is possible to combine people with communication function. 
 

65. Determine whether or not it is possible to group people with application.  This is the 
same as saying that, determine whether or not it is possible to group the people with the 
application entity. 

 
66. Show that question cannot be deleted 

 
67. Verify that a question cannot be copied 

 
68. Show that a question cannot be composed and decomposed 
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69. Verify that a question cannot be rotated 

 
70. Show that the answer of a question cannot be deleted 

 
71. Verify that the answer of a question cannot be copied 

 
72. Show that the answer of a question cannot be composed and decomposed 

 
73. Verify that the answer of a question cannot be rotated 

 
74. Verify that the answer of a question cannot be edited 

 
75. Show that a question cannot be edited 

 
76. Verify that the match label cannot be deleted 

 
77. Show that the mach label cannot be copied 

 
78. Verify that the point to label cannot be rotated 

 
79. Show that the point to label cannot be copied 

 
80. Show that the agreement label cannot be deleted 

 
81. Verify that the agreement label cannot be copied 

 
82. Show that the inclusion label cannot be deleted 

 
83. Verify that the inclusion label cannot be copied 

 
84. Verify that the relationship between two entities cannot be deleted 

 
85. Show that the relationship between two entities cannot be copied 

 
86. Verify that the relationship between two entities cannot be edited 

 
87. Verify that an entity cannot be composed.  In this case, you verify your understanding 

about building or deriving an entity. 
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88. What does a project identification mean to you?  In this case you verify your 
understanding about a project identification. 

 


